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PHYSICS

BOOKS - TARGET PHYSICS (HINGLISH)

WAVE THEORY OF LIGHT

Classical Thinking

1. According to corpuscular theory of light, the

different colours of light are due to


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hWQIF1f2IUbQ

A. the wavelength.

B. The frequency of the wave

C. The speed of corpuscles

D. the size of the corpuscles.

Answer: D

o Watch Video Solution

2. According to Newton's corpuscular theory,

the speed of light is


https://dl.doubtnut.com/l/_hWQIF1f2IUbQ
https://dl.doubtnut.com/l/_q0pagqenP2O4

A. less

B. more

C. sometimes less sometimes more

D. zero

Answer: A

° Watch Video Solution

3. Newton's corpusclar theory of light failed to

explain


https://dl.doubtnut.com/l/_q0pagqenP2O4
https://dl.doubtnut.com/l/_7z8w61DQ6jAK

A. reflection

B. refraction’

C. rectilinear propagation of light

D. interference of light

Answer: D

o Watch Video Solution

4. Newton postulated his corpuscular theory

on the basis of


https://dl.doubtnut.com/l/_7z8w61DQ6jAK
https://dl.doubtnut.com/l/_r1dn8yPeLfYs

A. Newton's ringhs

B. rectilinear propagation of light.

C. thin film colous.

D. despersion of white light into various

colous.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_r1dn8yPeLfYs

5. According to Newton's corpuscular theory of

light, the corpuscles are

A. heavy mass particles.

B. quanta

C. material particles

D. photons

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4KMuFsYMwZYf
https://dl.doubtnut.com/l/_aPhuQIDNnxK6

6. In a medium,different colours of light travel

with

A. same speeds.

B. different speeds.

C. continuously increasing speeds.

D. continuously decreasing speeds.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_aPhuQIDNnxK6

7. Which of the following is not a property of

light?

A.lt requires a material medium for

propagantion,

B. It can traval through vacuum

C. It involves transportation of energy

D. It has finite speed.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_SWHdOcKg9oOD

8. The wave theory of light was given by

A. Maxwell

B. Planck

C. Huygens

D. Young

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_SWHdOcKg9oOD
https://dl.doubtnut.com/l/_UGfyBfaj87u8

9. From wave theory of light, defferent colours

of light are due to

A. same wavelenght

B. different wavelengths.

C. different frequencies

D. different speeds.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8yXnxtgkxgGg
https://dl.doubtnut.com/l/_256xV904TZjs

10. In a isotropic medium,

A. Speed of light changes.

B. speed of light remains constant

C.direction of propagation of

changes.

D. wavelength of light changes.

Answer: B

light

o Watch Video Solution



https://dl.doubtnut.com/l/_256xV904TZjs

11. The properties assigned to luminiferous

ether are

A. very low density and rigidity

B. zero density and elasticity

C. very hight density and elasticity

D. very high density and rigidity

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_WiUyWw6xafUV
https://dl.doubtnut.com/l/_gHZC6J1Ik7OZ

12. A ray of light travels from water to glass.

Which one of the following statements is true

?

A. wavelenght increases

B. wavelenth decreases

C. frequency in creases

D. velocity increases.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gHZC6J1Ik7OZ
https://dl.doubtnut.com/l/_1LZNlxxam7lR

13. Monochromatic light has

A. same wavelength

B. different wavelength

C. same speed

D. different speeds.

Answer: A

o Watch Video Solution

14. A wavefront is an imaginary surface where


https://dl.doubtnut.com/l/_1LZNlxxam7lR
https://dl.doubtnut.com/l/_piqdgbDkVe5R

A. phase changes with constant rate in all

directions alsong the surface.

B. phyase changes with rthe same rate per

unit length in all directions along the

surface

C.constant phase difference is always

maintained.

D. phase is always the same for all points.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_piqdgbDkVe5R

15. A wavafront is

A. a surface perpendicular to the direction

of propagation of light

B.a surface paralel to the direction

propagation of light

C.a surface without any specific

orientation with direction of

propagation of light


https://dl.doubtnut.com/l/_piqdgbDkVe5R
https://dl.doubtnut.com/l/_jgUZwygMTQn8

D. a surface which has nothing to do with

intensity of light

Answer: A

o Watch Video Solution

16. Wavefront is the locus of all points, where
the particles of the medium vibrate with the

same

A. with same frequency


https://dl.doubtnut.com/l/_jgUZwygMTQn8
https://dl.doubtnut.com/l/_py5CuPyNiETJ

B. with same amplitude

C.with same frequency, amlitude and

defferent phase

D. in same phase

Answer: D

o Watch Video Solution

17. Wave normal is a direction which is

A. normal at every point on the wavefront


https://dl.doubtnut.com/l/_py5CuPyNiETJ
https://dl.doubtnut.com/l/_TFzV1HcCvRLs

B.tangantial to every point on the

wavefront.

C. directed at every point of the wavefront

D. independent of wavefront

Answer: A

o Watch Video Solution

18. What is the nature of the wavefron

associated with a parallel beam of light ?


https://dl.doubtnut.com/l/_TFzV1HcCvRLs
https://dl.doubtnut.com/l/_H9wP1gbBz3BY

A. Plane

B. Spherical

C. Elliptical

D. Parabolic

Answer: A

o Watch Video Solution

19. The wavefron obtained fron a sourece of
light is cylindrical at time t, When the source

of light is


https://dl.doubtnut.com/l/_H9wP1gbBz3BY
https://dl.doubtnut.com/l/_7GSKPSRrwOuH

A. a point source at finite distance

B. a point source at infinite distance

C. a thin linear sourcel

D. of a large size and of any shape

Answer: C

o Watch Video Solution

20. When wavefronts pass form denser
medium to rarer medium the width of the

wavefront


https://dl.doubtnut.com/l/_7GSKPSRrwOuH
https://dl.doubtnut.com/l/_dCXUu9X9Otcx

A. increases

B. may increases or decreases

C. decreases

D. remains unchanged

Answer: A

o Watch Video Solution

21. When wavefront strikes a reflecting surface.

A. it comes to rest


https://dl.doubtnut.com/l/_dCXUu9X9Otcx
https://dl.doubtnut.com/l/_jE81usjtkDdi

B. it pernetrates the reflecting surface.

C. the surface bends.

D.The points on the surface become

source of secondary wavelets.

Answer: D

o Watch Video Solution

22. Huygen's priciple of secondary wavelets

may be used to


https://dl.doubtnut.com/l/_jE81usjtkDdi
https://dl.doubtnut.com/l/_kJ4zYytUEHtr

A. find the valocity of ligth

B. find the new position of wavefront

C. explain the polarisation

D. explain the refraction

Answer: B

o Watch Video Solution

23. Hugens' concept of secondary waves is

useful in


https://dl.doubtnut.com/l/_kJ4zYytUEHtr
https://dl.doubtnut.com/l/_Ft6iARtQZRLn

A. explaining polarisation

B. determining focal length of lens.

C.geometrical  reconstruction  of

wavefront

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Ft6iARtQZRLn

24. According to Huygens' -construction,

tangential envelope which touches all the

secondary spaheres is the position of

A. original wavefront

B. secondary wavefront

C. geometrrical wavefront

D. extended wavefront

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JLqHadKHlyjk

25. Plane wavefront can be obtained form

A. any point source os light

B. point source placced at focus of convexd

lend’

C.linear source of light

D. co-axial source

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7raaufujN2Gr
https://dl.doubtnut.com/l/_eik2KB5MZK6E

26. A plane wavefront is incident with zero
angle of incidence f a plance separating two
media. The wavefront is
A. perpendicular to the surface
B. parallel to the surface
C.inclined at an angle of 45 with the
surface

D.inclined at an angle of 60° with the

surface

Answer: B


https://dl.doubtnut.com/l/_eik2KB5MZK6E

° Watch Video Solution

27. The wavefront due to a source situated at

infinity is

A. spherrical

B. cylindrical

C. planar

D. none of these

Answer: C

| 8 l


https://dl.doubtnut.com/l/_eik2KB5MZK6E
https://dl.doubtnut.com/l/_bjq9qxVWuObI

28. During the reflectio of ligth from plane

mirror, the incident ray, normal and reflected

ray lie

A. paralel to eacch other

B. perpendicular to each other

C.in same plane

D. in different plane

Answer: C



https://dl.doubtnut.com/l/_bjq9qxVWuObI
https://dl.doubtnut.com/l/_IV1kGaqhXVDS

I D Watch Video Solution

29. The laws of reflection of light are valid for

A. plane mirror only

B. concave mirror only

C. convex mirror only

D. all reflecting surfaces.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_IV1kGaqhXVDS
https://dl.doubtnut.com/l/_KilCVbimieUf

30. A monochromatic light of wavelength A is

incident ofn plane reflecting surface. After

reflection, its wavelength will be

A. doubled

B. reduced to half

C.same

D. quadrupled

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LbvGOjQK6k4V

31. When light enters from air to water, then

its

A.frequency increases and  speed

decreases.

B. frequency is same but the wavelength is

smaller in water in air.

C.frequency is same but the wavength in

water is grater than in air.


https://dl.doubtnut.com/l/_GIvyQpxgkRmm

D. frequency decreases and wavelength is

smaller in water than in air.

Answer: B

o Watch Video Solution

32. A monochromatic beam of light passes
from a denser medium into a rarer medium. As

a result

A. its velocity increases.


https://dl.doubtnut.com/l/_GIvyQpxgkRmm
https://dl.doubtnut.com/l/_YTLfYij1B8nm

B. its velocity deccreases.

C. its frequency deceases

D. its wavelength decreases.

Answer: A

o Watch Video Solution

33. Which one of the following statements is
correct ?

The refractive index of a given piece of glass is


https://dl.doubtnut.com/l/_YTLfYij1B8nm
https://dl.doubtnut.com/l/_h5sCd5VLxQlT

A. less for violet than for red light

B. more for blue than for green light

C. less for green than for yellow light

D. the same for all colours of light

Answer: B

o Watch Video Solution

34. Light of a certain wavelength has a wave

number v In vacum. Its wave number in a

medium of refractive index n is


https://dl.doubtnut.com/l/_h5sCd5VLxQlT
https://dl.doubtnut.com/l/_LJR6i5ckWod5

>
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Answer: C

o Watch Video Solution

35. A ray of light travelling in air haves
wavelength A, frequency n, velocity v and

intensity I. If this ray enters into water then


https://dl.doubtnut.com/l/_LJR6i5ckWod5
https://dl.doubtnut.com/l/_kzZDqSUu9PsQ

these parameter are A, n' , v' and I

respectively. Which relation is correct

A=)
B.n=mn’
Cv=v’
D.I =1
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kzZDqSUu9PsQ

36. A ray of light is incident on a glass slab
making an angle of 30° with the surface. The
angle of refraction in glass, if the refractive
index of flass is 1.6, is

A. 28°

B.33°

C.12°

D.15°

Answer: B

‘ o Wiadk hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_3sg9BlxH24mh
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37. Green light of wavelength 5460A is incident
on an air glass interface. If the refractive index
of glass is 1.5, the wavelength of light in glass
would be (C’ =3 X 108ms_1)n

A.3640 A

B. 5460 A

C.4861A

D. 3460 A


https://dl.doubtnut.com/l/_3sg9BlxH24mh
https://dl.doubtnut.com/l/_DxDKdkuz1TWo

Answer: A

o Watch Video Solution

38. Light travels with a speed of 2 x 103ms !
in crown glass of refractive index 1.5. What is
the speed of light in dense flint glass of
refractive index 1.8 ?

A.1.33 x 10°m/s

B.1.67 x 10°m/s

C.2.0 x 10°m/s


https://dl.doubtnut.com/l/_DxDKdkuz1TWo
https://dl.doubtnut.com/l/_oYMO0wH3q1s1

D.3.0 x 10°m/s

Answer: B

° Watch Video Solution

39. If th wavelength of light changes form
4000 A to 5000 A on entering another

medium then its frequncy changes by

A 1.5 x 10" Hz

B. zero


https://dl.doubtnut.com/l/_oYMO0wH3q1s1
https://dl.doubtnut.com/l/_dMlpllm5GLeA

C.4x 10"Hz

D.10*H 2

Answer: B

o Watch Video Solution

40. If the speed of light in glass and water are
2 x 108 m/s and 2. 25 x 10® m/s repsectively,
then the refrectve index of the water with

respect to the glass is


https://dl.doubtnut.com/l/_dMlpllm5GLeA
https://dl.doubtnut.com/l/_6cvazEORIH8S

A. 1125

B.1.25

C.15

D. 0.89

Answer: D

° Watch Video Solution

41. Light is

A. transverse wave


https://dl.doubtnut.com/l/_6cvazEORIH8S
https://dl.doubtnut.com/l/_H2IQdpVvmUSt

B. sometimes longitudinal and sometimes

transverse wave

C. neither transverse wave nor longitudinal

wave

D. longitudinal wave.

Answer: A

° Watch Video Solution

42.Longitudinal waves do not xhibit


https://dl.doubtnut.com/l/_H2IQdpVvmUSt
https://dl.doubtnut.com/l/_lGDctgyFsG1H

A. refraction

B. reflection

C. differection

D. polarisation

Answer: D

o View Text Solution

43. The polarisation of an electromagnetic

wave is determined by


https://dl.doubtnut.com/l/_lGDctgyFsG1H
https://dl.doubtnut.com/l/_PBGSIhTLXnTV

A. the electric fiel only

B. the magnetic field only

C. both the electric and magnetic fields.

D.the direction of propagation of

aelelctromagnetic waves

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_PBGSIhTLXnTV

44. In case of linearly polarised light, the

magnitude of the electric field vector

A. does nto change with time

B. varies periodically with time

C.increases and decreases linearly with

time

D.is parallel to the direction of

propagation.

Answer: B



https://dl.doubtnut.com/l/_Xl5CnmgpDhzQ

| QP Watch Video Solution

45, Assertion: The electromagnetic waves of all

wavelengths can be polarised.

Reaseon : Polarisationo is independent of the

wavelegths of electromagnetic waves.

A. Assertion is True, Reason is True, Reason

is a correct explanation for Assertion

B. Assertion is True, Reason is True, Reason

Is not a correct explanation for Assertion


https://dl.doubtnut.com/l/_Xl5CnmgpDhzQ
https://dl.doubtnut.com/l/_pPyUaEVLzaVA

C. Assertion is True, Reasonis False

D. Assertion is False, Reason is True

Answer: A

o Watch Video Solution

46. Unpolarised light consists of electric field

vectors in

A. any one plane

B. plane of paper


https://dl.doubtnut.com/l/_pPyUaEVLzaVA
https://dl.doubtnut.com/l/_1di3VA19s0vw

C. perpendicular to plane of paper

D. all posible planes

Answer: D

o Watch Video Solution

47. Phase difference between incident and

reflected rays is 180° in

A. air from glass

B. water from glass


https://dl.doubtnut.com/l/_1di3VA19s0vw
https://dl.doubtnut.com/l/_SgoAyuyU3AME

C. glass from diamond

D. glass from air

Answer: A

O Watch Video Solution

48. The device used to produce plane

polarised light is

A. a crystal

B. a biprism


https://dl.doubtnut.com/l/_SgoAyuyU3AME
https://dl.doubtnut.com/l/_yocRpe3eIqpY

C.a grating

D. nicol prism

Answer: D

o Watch Video Solution

49, In a plane polarised electromagnetic wave,
the angle between the planes of bivration and

polarisation is

A.0°


https://dl.doubtnut.com/l/_yocRpe3eIqpY
https://dl.doubtnut.com/l/_uNRh1RGOCqiB

B.30°

C.60°

D.90°

Answer: D

o Watch Video Solution

50. Refractive index of material is equal to

tangent of polarising angle. It is called

A. Brewaster's waw


https://dl.doubtnut.com/l/_uNRh1RGOCqiB
https://dl.doubtnut.com/l/_mWr4QFEjSYuA

B. Lambert's law

C. Malus's law

D.Bragg's law

Answer: A

o Watch Video Solution

51. The relation between the polarising angle
(7,) and the refractive index (n) of the medium

is given by


https://dl.doubtnut.com/l/_mWr4QFEjSYuA
https://dl.doubtnut.com/l/_trXp40x6AIbF

A. sin p

sin

COS 17y

C. cos p

D. cot ip

Answer: B

° Watch Video Solution

52. If the refractive index of glass is 1/3, then

its polarising angle will be


https://dl.doubtnut.com/l/_trXp40x6AIbF
https://dl.doubtnut.com/l/_Onbygoq5dHyn

A. 30°

B.45°

C.60°

D.90°

Answer: C

o Watch Video Solution

53. When unpolarised light beam is incident
from air onto glass ( n = 1.5) at the polarising

angle


https://dl.doubtnut.com/l/_Onbygoq5dHyn
https://dl.doubtnut.com/l/_qJ77W20RmIKP

A. reflected beam is polarised 100 percent

B.reflected and refracted beams are

partially polarised.’

C. almost all the light is refected

D. the light is refracted.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_qJ77W20RmIKP

54. A ray of light is incident on the surface of a
glass plate at an angle of incidence equal to
Brewster's angle ¢. If u represents the
refractive index of glass with respect to air,
then the angle between reflected and

refracted rays is

A.90 + ¢
B.sin (1 cos ¢)
C.90°

D.90° — sin~ '(sin¢ /)


https://dl.doubtnut.com/l/_O4Deb4CAu3Fy

Answer: C

o Watch Video Solution

55. Polarods are used to control the intensity

of light coming through windows of

A. trans and aeroplanes

B. four wheelers

C.rooms

D. theatres


https://dl.doubtnut.com/l/_O4Deb4CAu3Fy
https://dl.doubtnut.com/l/_sBVfGtgU7oFH

Answer: A

o Watch Video Solution

56. Which of the following polaroid is formed
by stretching polyvinyl alcohol by the stress ?
A. P- polaroid
B. H- polaroid
C. K-polaroid

D. N-polaroid


https://dl.doubtnut.com/l/_sBVfGtgU7oFH
https://dl.doubtnut.com/l/_7j6RQl2P2NZw

Answer: B

o Watch Video Solution

57.Sum glasses are polaroid because

A. they are cheap

B. they are good in colour

C. they reduce intensity of light

D. they increase intensity of light

Answer: C


https://dl.doubtnut.com/l/_7j6RQl2P2NZw
https://dl.doubtnut.com/l/_5sv6IJ5LeCMm

° Watch Video Solution

58. Which of the following

dichroism ?

A. Turmaline

B. Quinine

C. Crown crystal

D. Nickel

Answer: A

possesses
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https://dl.doubtnut.com/l/_5sv6IJ5LeCMm
https://dl.doubtnut.com/l/_v8oIpkMuscvn

59. Which of the follwing is NOT the use of

polaroid ?

A. LCD screen

B. Colour constrast

C.Control amount of light in aeroplne

window

D. Vehicle side mirror

Answer: D



https://dl.doubtnut.com/l/_v8oIpkMuscvn
https://dl.doubtnut.com/l/_elzQNGcYkseP

’ o Watch Video Solution

60. Which of the is not an aplicatinoof of

polaroid ?

A. Sun glasses

B. Study of optical activity

C. Determining the resolving power of an

optical device

D. 3-D movies


https://dl.doubtnut.com/l/_elzQNGcYkseP
https://dl.doubtnut.com/l/_Pd3WwvwevCKy

Answer: C

o Watch Video Solution

61. When a polaroid is rotated, the intensity of
light is not found to vary. The incident light
may be

A. completely plane polarsed

B. partialy plane polarised

C. unpolarised

D. completely diffrected


https://dl.doubtnut.com/l/_Pd3WwvwevCKy
https://dl.doubtnut.com/l/_dn6q8dcbukW2

Answer: C

o Watch Video Solution

62. If a source of light is moving away from a

stationary observer, then the frequency of

light wave appears to change because of

A. Dopplar effect

B. Interference

C. Diffraction

D. Polarisation


https://dl.doubtnut.com/l/_dn6q8dcbukW2
https://dl.doubtnut.com/l/_Ayuyd0iPgtgL

Answer: A

o Watch Video Solution

63. Two point A and B are situated at the same
distance from the phase difference between
the light waves passing throught A and B will

be

A. zero

B.m/2


https://dl.doubtnut.com/l/_Ayuyd0iPgtgL
https://dl.doubtnut.com/l/_9z2WdEutfbxv

D.27m /3

Answer: A

° Watch Video Solution

64. The velocity of light emitted by a source S
observed by an observer O, who is at rest with
respect to S is c . If the observer moves
towards S with velocity v, the velocity of light

as observed will be

Ac+ v


https://dl.doubtnut.com/l/_9z2WdEutfbxv
https://dl.doubtnut.com/l/_NFUFLE5OJMzl

B.c—v

C.c
V2
Answer: C

° Watch Video Solution

65. If a star is moving towards the earth, then

the lines are shifted towards

A. Red


https://dl.doubtnut.com/l/_NFUFLE5OJMzl
https://dl.doubtnut.com/l/_POAo2pY77ilr

B. Infra-red

C.Blue

D. Green

Answer: C

o Watch Video Solution

66. A star is emitting yollow light. If it is
accelerated towards earth, then to to an

observer on earth, it will appear


https://dl.doubtnut.com/l/_POAo2pY77ilr
https://dl.doubtnut.com/l/_t0zs5TzdwfVZ

A. shinning yellow

B. graduly changing to violet

C. gradually changing to red

D. unchanged

Answer: B

o Watch Video Solution

67. When a source of light is receding away
from an observer, then the spectral lines will

get displaced towards


https://dl.doubtnut.com/l/_t0zs5TzdwfVZ
https://dl.doubtnut.com/l/_tl2IpEe80vhL

A.violet region

B. red region

C. ultraviolet region

D. blue region

Answer: B

o Watch Video Solution

68. Fro which of the following waves is the

Doppler efferct not applicatble ?


https://dl.doubtnut.com/l/_tl2IpEe80vhL
https://dl.doubtnut.com/l/_kwDLZmoC4Wum

A. Shock waves

B. Ultrasonic waves

C. Sonic waves

D. Electromagnitic waves

Answer: A

o Watch Video Solution

69. Which of the following is not the use of

Deppler effect ?


https://dl.doubtnut.com/l/_kwDLZmoC4Wum
https://dl.doubtnut.com/l/_HNbNCe3AB9Tu

A. Discovery of twin stars

B. To determine the velocity of milky way

C. To determine the redius of earth

D. To determine the velocity of submarine.

Answer: C

o Watch Video Solution

70. When the light source is moving towards

an observer,


https://dl.doubtnut.com/l/_HNbNCe3AB9Tu
https://dl.doubtnut.com/l/_Kjs5aJcunj65

A. wavelength of light decreases.

B. wavelength of light increases.

C. wavelength of light remains unchanged

D. velocity of light increases

Answer: A

o Watch Video Solution

71.In the context of Doppler effect in light, the

term red shift signifies


https://dl.doubtnut.com/l/_Kjs5aJcunj65
https://dl.doubtnut.com/l/_BINXKmURuY9z

A. decease in frequency

B. increase in frequency

C. decrease in intensity

D. increase in intensity

Answer: A

o Watch Video Solution

72.The sun is rotating about its own axis. The
spectral lines imitted from the two ends of its

equator, for an bserver on the earth will show


https://dl.doubtnut.com/l/_BINXKmURuY9z
https://dl.doubtnut.com/l/_19AeQL5SmtvX

A. shift towards red end

B. shift towards violet end

C. no shift

D.shift towards red form one end and

shilft towards violet from other end

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_19AeQL5SmtvX

73. The redius of curvature of a plane

wavefront

A.is less than that of a spherical

vwavefront

B. is infinity

C.is equal to the radius of curvature of a

reversing wavefront.

D. is slightly more than that of a cylindrical

wavefront


https://dl.doubtnut.com/l/_REr9j8OD4AZU

Answer: B

o Watch Video Solution

74. What will be the value of R.. (u) for

completely transparent meterial medium to be

invisible ?

A. Unity

B. More than one unit

C. Less than unity

D. Equal to 1.33


https://dl.doubtnut.com/l/_REr9j8OD4AZU
https://dl.doubtnut.com/l/_kF5Z8BP2sruG

Answer: A

o Watch Video Solution

75. Select the WRONG statement.

A. According to Huygens' principle, every

point on a given wavefront is regarded

as a secondary source.

B.The new disturbance from secondary

source travels in all directions with the


https://dl.doubtnut.com/l/_kF5Z8BP2sruG
https://dl.doubtnut.com/l/_wN03Uhuugm1s

velcity of light is called secondary

wavelets.

C.The surface of tangency to secondary

wavelets in forward derection only gives

new wavefront.

D. Huygens could explanin rectilinear

propagation of light.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wN03Uhuugm1s
https://dl.doubtnut.com/l/_aktg5f9tv2yg

76. Statement-1 : Light travels faster in glass

than in air.

Statement-2 : Because air is rarer than glass.

A. Assertion is True, Reason is True, Reason

is a correct explanation for Assertion

B. Assertion is True, Reason is True, Reason

is not a correct explanation for Assertion

C. Assertion is True, Reasonis False

D. Assertion is False, Reason is True


https://dl.doubtnut.com/l/_aktg5f9tv2yg

Answer: D

° Watch Video Solution

77. Assertion L A spherical wavefront is
produced by a point source of light .

Reason : It is because, the locus of al points,
which are equidistant from the point source, is

a sphere.

A. Assertion is True, Reason is True, Reason

Is a correct explanation for Assertion


https://dl.doubtnut.com/l/_aktg5f9tv2yg
https://dl.doubtnut.com/l/_7Rt6dThARfB3

B. Assertion is True, Reason is True, Reason

Is not a correct explanation for Assertion

C. Assertion is True, Reasonis False

D. Assertion is False, Reason is True

Answer: A

° Watch Video Solution

Critical Thinking


https://dl.doubtnut.com/l/_7Rt6dThARfB3

1. According to Huygens, medium through

which light waves travel is

A.vacuum only

B. luminiferous ether

C. liquid only

D. solid only

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_iIDctQ3CMhZ9
https://dl.doubtnut.com/l/_7r8KgmjhrfjD

2. Whch of the following propertiy is trun in

case of eather ?

A. Very high elasticity of volume

B. Very high elasicity of shape

C. Very low elasticity of volume

D. Very low elasticity of shape

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_7r8KgmjhrfjD

3. The wave theory of light does not explain

A. interfernce

B. refraction

C. Compton effect

D. diffraction

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_MkdUbwLrNQrt

4. If light travals from vacuum to water, its

wavelength

A. Increass

B. remains constant

C.decreases

D. may increases or decreases

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_2qekN9RbxKPB
https://dl.doubtnut.com/l/_XnFYSxsDF8jc

5. A sperical wavefront propagating in a

medium changes into

A. circular wavefront

B. cylindrical wavefront

C. plane wavefront

D. elliptical wavefront

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XnFYSxsDF8jc

6. A light wave in air enters a medium of
4
refractive index 3 If the wwave number of
light in air is 3 x 10° /m, then the wave
number of light in themedium is
A.4 x 10%/m
B.2.22 x 10%/m

C.3.33 x 10%/m

D. 4.44 % 10%/m

Answer: A

‘ ° Wiak hh \iAAA CAaliikianm



https://dl.doubtnut.com/l/_mDZh9KeF8weY
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7.Light passes from air into a liquid. The angle
of incidence is 60°. The deviation produced is
15°. The refractive inded of the liquied is

A 15

B. 133

C.1.22

D. 1.63

Answer: C

| s |


https://dl.doubtnut.com/l/_mDZh9KeF8weY
https://dl.doubtnut.com/l/_tzU56IzgQslS

| ¥ Watch Video Solution ]

8. Time taken by sunlight to pass through a

window of thickness 4mm whose refraactive

- dex i 3 .
in eX|s§,|s

A2 x 10785
B.2 x 10%s
C.2x 10 Mg

D.2 x 10's

Answer: C



https://dl.doubtnut.com/l/_tzU56IzgQslS
https://dl.doubtnut.com/l/_huvvLZoAFygK

\ o Watch Video Solution

9. The time taken bhy the sunlight to

penetrate 3 mm glass slabis (© = 1.5)

A.1.5 x 10 s

B.3 x 10 Ys

C.3 x 10~ 105

D.1.5 X 10 ’s

Answer: A

l o Watch Video Solution


https://dl.doubtnut.com/l/_huvvLZoAFygK
https://dl.doubtnut.com/l/_cjSS12u5uME6

10. The sistance travelled by light in a medium

of R.I.3/2 in a nano second is

A. 45 cm

B.40 cm

C.30cm

D. 20 cm

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_cjSS12u5uME6
https://dl.doubtnut.com/l/_qNc9GcmfJTWX

1. The velocity of light in vacuum s
3 x 10°m / s. Therefore the velocity of light in
m/s in a medium of R.I. 1.25 is

A.3.75 x 10°

B.4.25 x 10°

C.1.75 x 10°

D.2.4 x 108

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_qNc9GcmfJTWX
https://dl.doubtnut.com/l/_e6m0F78LFQVr

12. The refractive index of a piece of glass of
1.5 and it accommodates as many waves as
are accommodated in 18cm width of water
column.f the refractive index of water 1.33

then the thickness of glass piece will be-

A. 20 cm

B.10 cm

C.12 cm

D. 16 cm


https://dl.doubtnut.com/l/_e6m0F78LFQVr
https://dl.doubtnut.com/l/_YZFTu9yKlNMc

Answer: D

° Watch Video Solution

13. A glass slab of thickness 4 cm contains the
same number of waves as X cm of water
column when both aretransvarsed by the
same monochomatic light, If the refractive
indeces of glass and water ( for that light ) are

5/3 and 4/3 respectively, the value of X will be

A.9/20 cm


https://dl.doubtnut.com/l/_YZFTu9yKlNMc
https://dl.doubtnut.com/l/_aeq9bvTf6trp

B.20/9 cm

C.5/4 cm

D.5cm

Answer: D

o Watch Video Solution

14.Red light of wavelength 6400 A in air has a
wavelength of 4000 A in glass. If the
wavelength of violet light in air is 4400 A, then

the wavelength in glass is


https://dl.doubtnut.com/l/_aeq9bvTf6trp
https://dl.doubtnut.com/l/_0tDuDYOTPHD9

A. 2570 A

B.2750 A

C. 1600 A

D. 2560 A

Answer: B

o Watch Video Solution

15. A ray of light passes through four
transparent media with refractive indicespy,u9

3 and py as shown in the figure. The surfaces


https://dl.doubtnut.com/l/_0tDuDYOTPHD9
https://dl.doubtnut.com/l/_AIro9wQSglhz

of all media are parallel. If the emergent ray
CD is parallel to the incident ray AB, we must

have
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https://dl.doubtnut.com/l/_AIro9wQSglhz

Answer: D

o Watch Video Solution

16. In the given figure, a wavefront AB moving
in air is incident on a plane glass surface XY,
Its position CD after refraction through a glass

slab is showin in gigure. The ratio of width of


https://dl.doubtnut.com/l/_AIro9wQSglhz
https://dl.doubtnut.com/l/_3QDMfkIW1LOn

wavefront AB to the refracted wavefront CD is

COS 1

" CcosT

CosTr

COS 1

sinz

sin”r

sin r

sinz

Answer: A

I ° Watch Video Solution


https://dl.doubtnut.com/l/_3QDMfkIW1LOn

17. A ray of light travels from air to glass. It is
found that the angle of refraction is half the
angle of incidence. The the angle of incidence

is given by
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https://dl.doubtnut.com/l/_3QDMfkIW1LOn
https://dl.doubtnut.com/l/_hKrkHS6Wonso

Answer: A

o Watch Video Solution

18. A glass slabn of thickness 8 cm contains the
same number of waves as 10 cm of water,
when the same monochromOatic light
transaverses both. If the refractive index of
water is 4/3, then the refractive indexd of

glass is

A5
3


https://dl.doubtnut.com/l/_hKrkHS6Wonso
https://dl.doubtnut.com/l/_HA2Kkm9MLqPc

Answer: A

o Watch Video Solution

5\ th
19. Volocity of light in diamond is (E)
that in air. Velocity of light in water is (Z)

that in air. The angle of incidence of a ray of


https://dl.doubtnut.com/l/_HA2Kkm9MLqPc
https://dl.doubtnut.com/l/_RZ8UqG1BmaIz

light taranvelling from water to diamond

A.sin~1(9/10)
B.sin ™ (3 /4)
C.sin '(5/12)

D.sin " *(9/5)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_RZ8UqG1BmaIz

20. A ray of light strikes a glass slab of
thickness t. It emergens on the opposite face,
parallel to the incident ray but laterally

displaced. The lateral displacement, Az is

AAz =0

B.Ax=tsin(I-r)cosr

t sin 1
C.Ax =
COS T
tsin(I-r)
D. Ax =
COS T
Answer: D

I ° Wiak lh \AAaA CAaliikianm


https://dl.doubtnut.com/l/_HO0pb0CcSzko

VVCILLIL VI INAGINIE L J)

21. The velofity of light in glass 2 x 10°m/s. If
refractive index of glass with respect to water
is 9/8, then the velocity of light in water is

A.1.6 x 10° m/s

B.1.33 x 10° m/s

C.3 x 108 m/s

D. 2.25 x 10® m/s

Answer: D

| s ]


https://dl.doubtnut.com/l/_HO0pb0CcSzko
https://dl.doubtnut.com/l/_B5fYvLGrqi5o

| ¥ Watch Video Solution

22. Unpolarised light falls on two polarizing
sheets placed one on top of the other. What
must be the angle between the characteristic
directions of the sheets if the intensity of the
final transmitted light is one-third the
maximum intensity of the first transmitted

beam?

A 75°

B.55°


https://dl.doubtnut.com/l/_B5fYvLGrqi5o
https://dl.doubtnut.com/l/_ac7oMhhSuUPD

C.35°

D.15°

Answer: B

o Watch Video Solution

23. A beam of light is partially reflected and
partially refracted from a surface. The angle
between reflected and refracted light ray is
90°. If the angle of refraction is 30°, the angle

of incidence is


https://dl.doubtnut.com/l/_ac7oMhhSuUPD
https://dl.doubtnut.com/l/_KIYdrD78V19J

A.50°

B.60°

C.78°

D.75°

Answer: B

° Watch Video Solution

24. When the angle of incidence on a material

is 60°, the reflected light is completely


https://dl.doubtnut.com/l/_KIYdrD78V19J
https://dl.doubtnut.com/l/_netsJOEuCoaX

polarized. The velocity of the refracted ray

inside the material is (in ms_l)

A 3 x 108

3 8
B.| — | x10
V2
C. /3 x 10°

D.0.5 x 10°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_netsJOEuCoaX

25. A ray of light is incident on the surface of a
glass plate of index of refraction 1.55 at the

polarizing angle. Calculate the angle of
refraction.

A.0°

B.147° 11’

C.32°49’

D.57°10’

Answer: C

I o Wiadk lh \tAAaA CAaliikianm



https://dl.doubtnut.com/l/_cqPYgWdJg7eo

YVCILLIL VI INAGINIE L )

26. The correct relation for the diagram shown

below is



https://dl.doubtnut.com/l/_cqPYgWdJg7eo
https://dl.doubtnut.com/l/_r9t7YMWtb5ZB

C.sinz. = cot ¢

D.sin?, = cosec I

Answer: C

o Watch Video Solution

27. When unpolarised light is incident on a
plane glass plate at Brewster’s angle, then

which of the following statements is correct?


https://dl.doubtnut.com/l/_r9t7YMWtb5ZB
https://dl.doubtnut.com/l/_Zm5D8Soc57FK

A.Reflected and refracted rays are

completely poolarised withyy their

planes of polarisation parallel to each

other.

B. Reflected and refracted rasy are

completely polarised with their planes of

polarisation perpendicular to each other.

C. Reflected light is plane polarised but

transmitted light is plane polarised but

transmitted light is partially polarised.


https://dl.doubtnut.com/l/_Zm5D8Soc57FK

D. Reflected light is partially polarised but

refracted light is plane polarised.

Answer: C

° Watch Video Solution

28. Figure represents a glass plate placed
vertically on a horizontal table with a beam of
unpolarised light falling on its surface at the
polarising angle of 57° with the normal. The

electric vector in the reflected light on screen


https://dl.doubtnut.com/l/_Zm5D8Soc57FK
https://dl.doubtnut.com/l/_cpZkmZl64ULo

S will vibrate with respect to the plane of

incidence in a

A. vertical plane

B. horizontal plane

C.plane making an angle of 45° with the

vertical


https://dl.doubtnut.com/l/_cpZkmZl64ULo

D. plane meking an angle of 57° with the

horizontal .

Answer: A

o Watch Video Solution

29. Dichroism is the property whhere

A.unequal absorption of O-ray and E - ray

takes place.


https://dl.doubtnut.com/l/_cpZkmZl64ULo
https://dl.doubtnut.com/l/_nmjXVcbUTne7

B. equal absorption of O - ray and E - ray

takes place.

C. plane of polarisation rotates.

D. unequal reflection of O - ray and E - ray

takes place

Answer: A

° Watch Video Solution

30. In double refraction .


https://dl.doubtnut.com/l/_nmjXVcbUTne7
https://dl.doubtnut.com/l/_ax87f4fucCao

A. only the O -ray is polarised

B. only the E - ray is polarised

C.both O - ray and E ray are polarised.

D. neither O -ray nor E - ray is polarised.

Answer: C

o Watch Video Solution

31. The observed wavelength of light coming

form a distant galaxy is found to be increased


https://dl.doubtnut.com/l/_ax87f4fucCao
https://dl.doubtnut.com/l/_vwZhdZbbri8l

by 0.5% as compared with that coming form a
terrestrial source. The galaxy is
A. stationary with repsect to the earth
B. approacthing the eath with velocity of
light
C.recending form the earth with the
velocity of light
D. receding form the earth eith a velocity

equal to 1.5 x 10° m/s.

Answer: D


https://dl.doubtnut.com/l/_vwZhdZbbri8l

° Watch Video Solution

32. A star producing light of wavelenght 6000
A moves away from the earth with a speed of 5
km/s. Due to Doppler effect, the shift in
wavelength will be (c = 3 x 10%m/s)

A.01A

B.0.05 A

C.02 A

D.1A


https://dl.doubtnut.com/l/_vwZhdZbbri8l
https://dl.doubtnut.com/l/_RSGKE1hIFkWq

Answer: A

o Watch Video Solution

33. Arocket is moving away from the earth at a
speed of 6 x 10"m /s . The rocket has blue
light in it. What will be the wavelength of light
recorded by an observer on the earth

(wavelength of blue light = 4600A)

A. 4600 A

B. 5520 A


https://dl.doubtnut.com/l/_RSGKE1hIFkWq
https://dl.doubtnut.com/l/_70DrHPa4flCE

C.3680 A

D.3920 A

Answer: B

o Watch Video Solution

34. The spectral line of wavelength A = 5000A
in the light coming from a distant star is
observed as 5200 A.Determine the recession

velocity of the star.


https://dl.doubtnut.com/l/_70DrHPa4flCE
https://dl.doubtnut.com/l/_czHObhrMCSOK

A. 1.2 x 107 cm/s
B.1.2 x 107 m/s
C.1.2 x 10" km/s

D. 1.2km/s

Answer: B

o Watch Video Solution

35. A rocket is going away from the earth at a
speed 0.2 ¢, where c = speed of light. It emits a

signal of frequency 4 X 10"Hz . What will be


https://dl.doubtnut.com/l/_czHObhrMCSOK
https://dl.doubtnut.com/l/_WNp19yLM5m77

the frequency observed by an observer on the

earth

A.0.24

B.1.2

C.30

D.3.3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_WNp19yLM5m77

36. A plane glass slab is placed over various

coloured letters. The letter which appears to

be raised the least is

A. blue

B. green

C.violet

D. red

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_agMAYP43SLx4

37. A ray of light is inciden rormally on a glass
slab of refractive index u of thckness 'd' which
is at a distance x from the glass. The ray of
light takes same time to reach from source to
slab and to reach from sorce to slab and to
pass through the slab.

The thickness of the slab is


https://dl.doubtnut.com/l/_ECpUp9mcAXlY

D.(u— 1z

Answer: B

° Watch Video Solution

38. Light entering an air glass (u = 1.5)
boundary is partly reflected and partly
refracted. If the incident and reflected rays are
at right angles to each other, the angle of

refraction r is given by

A.sinr = —


https://dl.doubtnut.com/l/_ECpUp9mcAXlY
https://dl.doubtnut.com/l/_04vzeQiYIqHF

B. si = 2
.sinr = 3

C.none of these

Answer: A

o Watch Video Solution

39. A plane mirror PQ is help normally to water
surface of refractive idex 1.33. A ray of light is
incident at an angle of 50° with the nirror

surface. After reflection the ray is refracted


https://dl.doubtnut.com/l/_04vzeQiYIqHF
https://dl.doubtnut.com/l/_fUNq44QiauxQ

into water. The angle of refraction r is

l)

B.35°

C.45°

D.60°


https://dl.doubtnut.com/l/_fUNq44QiauxQ

Answer: B

o Watch Video Solution

40. A ray of light is Incident on a glass plate at
60°. The reflected and refracted rays are
found to be mutually perpe:ndiwlar. The

refractive index of the glass is


https://dl.doubtnut.com/l/_fUNq44QiauxQ
https://dl.doubtnut.com/l/_aeCFIaS1Qgz5

D. /3

Answer: D

° Watch Video Solution

41. A light source approaches the observer
with velocfity 0.8 c. The Doppler shift for the
light of wavelength 5000 A is

A. 4400 A

B.1833 A


https://dl.doubtnut.com/l/_aeCFIaS1Qgz5
https://dl.doubtnut.com/l/_NW49LslZsIEQ

C.3667 A

D.7333 A

Answer: C

o Watch Video Solution

42. Assertion : Contribution of the wavelets
lhying on back on a wavefront is zero.
Reason : The contribution of a wavelet in any

direction making angle 6 with the wavelet is


https://dl.doubtnut.com/l/_NW49LslZsIEQ
https://dl.doubtnut.com/l/_VZBuXbNsuzm9

proportional to %(1 + cos ). In the case,
60 = 180°.
A. Assertion is True, Reason is True, Reason
Is a correct explanation for Assertion
B. Assertion is True, Reason is True, Reason
is not a correct explanation for Assertion
C. Assertion is True, Reasonis False

D. Assertion is False, Reason is True

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_VZBuXbNsuzm9

43, Assertion : The colour of thelight can be
assessed from the wavelength of light waves.
Reason : Intensite = (Amplitude)®
A. Assertion is True, Reason is True, Reason
is a correct explanation for Assertion
B. Assertion is True, Reason is True, Reason
Is not a correct explanation for Assertion

C. Assertion is True, Reasonis False

D. Assertion is False, Reason is True


https://dl.doubtnut.com/l/_VZBuXbNsuzm9
https://dl.doubtnut.com/l/_yEMXEAARt36N

Answer: B

o Watch Video Solution

Competitive Thinking

1. When light is refracted form a surface, which

of its following physical parameters does not

change ?

A. Velocity

B. Amplitude


https://dl.doubtnut.com/l/_yEMXEAARt36N
https://dl.doubtnut.com/l/_T4o7wGOpRMCH

C. Frequency

D. Wavelength

Answer: C

o Watch Video Solution

2.By Huygen's wave theroy of light, we cannot

explain the phenomenon of

A. Interference

B. Diffrection


https://dl.doubtnut.com/l/_T4o7wGOpRMCH
https://dl.doubtnut.com/l/_NPxCTVq4LgyP

C. Photoelectric effect

D. Polarisation

Answer: C

o Watch Video Solution

3. Light appears to travel in straight lines since

A.in is not absorbed by the atmoshpere.

B. it is reflected by the atmoshere.

C. its wavelength is very small.


https://dl.doubtnut.com/l/_NPxCTVq4LgyP
https://dl.doubtnut.com/l/_jMS0SyqnzU7u

D. its velocity is very large.

Answer: C

° Watch Video Solution

4. The rectilinear propagation of light in

medium is due to its

A. High Velocity

B. Large Wavelength

C. High frequency


https://dl.doubtnut.com/l/_jMS0SyqnzU7u
https://dl.doubtnut.com/l/_znM0VrNxXgIf

D. Source

Answer: C

o Watch Video Solution

5. Which of the following generates a plane

wavefront?
A.a — rays
B. 8 — rays

C.v — rays


https://dl.doubtnut.com/l/_znM0VrNxXgIf
https://dl.doubtnut.com/l/_MbC0rKaOLLaQ

D. none of these

Answer: D

o Watch Video Solution

6. Wavefront of a wave has direction with wave

motion

A. parallel

B. perpendicular

C. opposite


https://dl.doubtnut.com/l/_MbC0rKaOLLaQ
https://dl.doubtnut.com/l/_WsLrpleTo6mY

D. at any angle

Answer: B

° Watch Video Solution

7. According to Huygens' principle, during

rafraction of light from air to a denser

medium

A.wavelength  decreases but speed

increeases.


https://dl.doubtnut.com/l/_WsLrpleTo6mY
https://dl.doubtnut.com/l/_OQTUjI3Dy8AJ

B. iwavelength increaases but speed

decreaases.

C. wavelength and speed increases

D. wavelength and speed decrease.

Answer: D

o Watch Video Solution

8. Which one of the following phenomena is
not explained by Huygens construction of

wavefront?


https://dl.doubtnut.com/l/_OQTUjI3Dy8AJ
https://dl.doubtnut.com/l/_WK15PGROQZvr

A. Refraction

B. Reflection

C. Diffraction

D. Origin of spectra

Answer: D

o Watch Video Solution

9. In Huygen's wave theory, the locus of all

points in the same state of vibration is called :


https://dl.doubtnut.com/l/_WK15PGROQZvr
https://dl.doubtnut.com/l/_lEjN5aLjlTgz

A. a half period zone

B. oscillator

C. a wavefront

D. a ray

Answer: C

o Watch Video Solution

10. Wavefront is the locus of all points, where
the particles of the medium vibrate with the

same


https://dl.doubtnut.com/l/_lEjN5aLjlTgz
https://dl.doubtnut.com/l/_dBKa9fPLCBPr

A. phase

B. Amplitude

C. frequency

D. period

Answer: A

° Watch Video Solution

11. When a ray of light is incident normally on

a surface, then


https://dl.doubtnut.com/l/_dBKa9fPLCBPr
https://dl.doubtnut.com/l/_1ULeWGRUgIFI

A. total internal reflection takes place

B. it passes undeviated.

C. it undergoes dispersion

D. it gets absorbed by the surface

Answer: B

o Watch Video Solution

12. Rays diverging from a point source from a

............ wavefront.


https://dl.doubtnut.com/l/_1ULeWGRUgIFI
https://dl.doubtnut.com/l/_nRbwlaHZvcb5

A. Cylindrical

B. Spherical

C. Plane

D. Cubical

Answer: B

o Watch Video Solution

13. For the same angle of incidence the angles

fo refreaction in media PQ ,R and S are


https://dl.doubtnut.com/l/_nRbwlaHZvcb5
https://dl.doubtnut.com/l/_aIzq4YjTozwC

50°,40°,30°, 20° respectively the speed of

lights is minimum in medium

AP

B.Q

C.R

D.S

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_aIzq4YjTozwC

14. A ray of light is incident on the surface of
seperation of a medium at an angle 45° and is
refracted in the medium at an angle 30°.
What will be the velocity of light in the
medium?

A.1.96 x 10°m/s

B.2.12 x 10° m/s

C.3.18 x 10%m/s

D. 3.33 x 10® m/s

Answer: B


https://dl.doubtnut.com/l/_Qi5i554lELMV

° Watch Video Solution

15. A light is travelling from air a medium the
velocity of light in a medium is reduced to to
0.75 times the velocity n air assume that angle
of incidence | is very small the deviation of the

ray is

%
W | .

=~ .


https://dl.doubtnut.com/l/_Qi5i554lELMV
https://dl.doubtnut.com/l/_forPL9etNJBL

Answer: C

° Watch Video Solution

16. A ray of light travelling through rarer
medium is incident at very small angle i on a
glass slab and after refraction its velocity is

reduced by 20%. The angle of deviation


https://dl.doubtnut.com/l/_forPL9etNJBL
https://dl.doubtnut.com/l/_p2EBxaVdGkAg

Answer: B

o Watch Video Solution

17. The refractive indices of water and galss
w.r.t. air are 1.3 and 1.5 respectively. What will
be the refractive index of galss with respect to

water ?


https://dl.doubtnut.com/l/_p2EBxaVdGkAg
https://dl.doubtnut.com/l/_VVqJWC3JqL3N
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Answer: A

o Watch Video Solution

18. A ray of light is icident on a glass plate of
refractive index 1.5. The angle between the

reflected and refracted rays is 90°. What is the


https://dl.doubtnut.com/l/_VVqJWC3JqL3N
https://dl.doubtnut.com/l/_94QGCYIEwCOS

ratio of wavelengtth of reflected t refracted

rays ?

A 2.1

B.1.5

C.1.6

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_94QGCYIEwCOS

19. A wave of light having frequency 4 x 10
Hz. And speed of light 3 x 10° m/s enters
glass of R.I. 1.5. Change in wavelength is
A.2.5210" " m
B.2.5 x 10~ %m

C.2.5 x 10 8m

D.2.5 x 10 ?

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cVTpGCfA0oCY

20. The change in wavelenght of light of

frequency 4 x 10'*Hz. When it pass from air to
glass, is (,U'glass = 1.5)

A. 2500 A

B.3500 A

C.3000 A

D. 2000 A

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_jwtCvIPAEVKB

21. The wavelenth of light is 5000 A . Find the
wave number.

A5 x 108

B.2 x 10°

C.3 x 10°

D.1 x 10°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_q6FJ3Hei6i9L
https://dl.doubtnut.com/l/_GiRhJjn2NytM

22. If the wavelength of light is 4000A, then
the number of waves in 1mm length will be

A. 25

B. 2500

C. 250

D. 25000

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_GiRhJjn2NytM

23. For a radiation of 8 GHz passing though air.

The number of waves passing through | m

length is

A.30

B.5

C. 20

D.3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gcenmeUSE8ta

24. A light wave in air enters a medium of
4

refractive index 3 If the wavelength of light

in air is 6000A, then the wave number of light

in the medium is

A. 1.1 x 10°
B.4.4 x 10°
C.2.2 x 10°

D.6 x 10°

Answer: C

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_dxilsvPJP1Ed

25. A light passes through glass slabv of

refractive index 1.5 and thickness 2 mm. How

much time ray will take to pass through the

glass slab ?

A. 10 195

B.10 s

C.10 %5

D.10 Vs


https://dl.doubtnut.com/l/_dxilsvPJP1Ed
https://dl.doubtnut.com/l/_vZvg1u6WWOs0

Answer: B

o Watch Video Solution

26. Light passess through glass of refractive
index 1.5 . What is the time required for light

to travel 4 x 10° min glass ?


https://dl.doubtnut.com/l/_vZvg1u6WWOs0
https://dl.doubtnut.com/l/_1sTSna0ZSqc6

Answer: D

o Watch Video Solution

27. The ratio of velocities of light in glass that

in whater is ( refractive inde of glaass = 1.5 and

refractive index of water = 1. 33)

A.0.8803 : |

B. 0.8989: |

C.0.8867 : |

D. 0.8504 : |


https://dl.doubtnut.com/l/_1sTSna0ZSqc6
https://dl.doubtnut.com/l/_KnKRkAOwRCSk

Answer: C

o Watch Video Solution

28. Time taken by the light ot travel through 5

cm orf glass is same is 1.5, then x cm of air. Irf

R.I. of glass is 1.5, then x is

A. 7.5 cm

B.1.33 cm

C.9cm

D.6cm


https://dl.doubtnut.com/l/_KnKRkAOwRCSk
https://dl.doubtnut.com/l/_kPPvREYvmYmr

Answer: A

o Watch Video Solution

29. A ray of light is incident normally on a
glass slab of thickness 5 cm and refractive
index 1.6. The time taken to travel by a ray
from source to surface of slab is same as to
travel through glass slab. The distance of

source from the surface is

A.4 cm


https://dl.doubtnut.com/l/_kPPvREYvmYmr
https://dl.doubtnut.com/l/_lfteof61p8Nb

B.8 cm

C.12cm

D.16 cm

Answer: B

o Watch Video Solution

30. A paralel beam of monochromatic light is
incident on a glass slab at an angle of

incidentce 45°. Find the ratio of width of


https://dl.doubtnut.com/l/_lfteof61p8Nb
https://dl.doubtnut.com/l/_hbZu9hMIRT8a

beam in glass to that in air ( If refractive index

of glass is 1.5).

A.

1.2475

b 1.4134

. 1.732

D.1

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_hbZu9hMIRT8a

31. Light travels through a glass plate of
thickness t and refractive index u. If c is the
speed of light in vacuum, the time taken by

light to travel this thickness of glass is

A. tuc

Answer: D

‘ ° Wiadk hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_9gSsYo22PpbM
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32. The time taken by the sunlight to reach the

bottom of a tank of depth 4.5 m filled

completely with water is ... Ns. The
. 4
refractive index of water is 3
A 2
B. 20
C.1.5

D. 200


https://dl.doubtnut.com/l/_9gSsYo22PpbM
https://dl.doubtnut.com/l/_AjHjruiWfO1X

Answer: B

° Watch Video Solution

33. When the same monochromatic ray of light
travels through glass slab and through water,
the number of waves in glass slab of thickness
6 cm is same as in water column of height 7
cm. If refractive index of glass is 1.5, then

refractive index of water is

A.1.258


https://dl.doubtnut.com/l/_AjHjruiWfO1X
https://dl.doubtnut.com/l/_EebA6GvkcO9c

B. 1.269

C.1.286

D. 1.31

Answer: C

o Watch Video Solution

34.V,, and Vg represent the velocities, mO and
mE the refractive indices of ordinary and
extraordinary rays for a doubly refracting

crystal. Then


https://dl.doubtnut.com/l/_EebA6GvkcO9c
https://dl.doubtnut.com/l/_yDLckTYDv1WE

A-Vvo 2 VE):U’O SIU’E if

calcite.

B.Vo < Vg, po < pg if

quartz.

CVo<Vgyp > pgp Iif

calcite.

D.vg > Vg, o = pr  if

quartz.

Answer: C

the

the

the

the

crystal

crystal

crystal

crystal

o Watch Video Solution



https://dl.doubtnut.com/l/_yDLckTYDv1WE

35. Through which character we can distiguish

the light waves from sound waves

A. Interferrnce

B. Refracftion

C. Polarisation

D. Reflection

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_yDLckTYDv1WE
https://dl.doubtnut.com/l/_HRMNAUy9sjHQ

36. Which of the following cannot be

polarised?

A. Radio waves

B. Ultraviolet rays

C. Infrared rays

D. Unltrasonic waves

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_W18msN0jVYNB
https://dl.doubtnut.com/l/_vpjSkjxO0ynx

37. In the propagation of electromagnetic

waves the angle between the direction of

propagation and plane of polarisation is

A.0°

B.45°

C.90°

D. 180°

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_vpjSkjxO0ynx
https://dl.doubtnut.com/l/_RaydlkAUoeTq

38. When a plane polarised light is passed
through an analyser and analyser is rotated
through 90°, the intensity of the emerging
light
A.varies between a maximum and
minimum
B. becomes zero

C. does not vary

D. varies between a maximum and zero

Answer: D


https://dl.doubtnut.com/l/_RaydlkAUoeTq

° Watch Video Solution

39. A beam of light AO is incident on a glass
slab (x = 1.54) in a direction as shown in
figure. The reflected ray OB is passed
throught a Nicol prism. On viewinf through a

Nicole prism, we find rotating the prism that

(tan~'1.54 = 57°)



https://dl.doubtnut.com/l/_RaydlkAUoeTq
https://dl.doubtnut.com/l/_y0xKUUIinAz5

A.the intensity si reduced down to zero

and remains zero

B. the intensity raduces down some what

and aganin.

C. There is not change in intensity.

D. The intensity gradually reduces to zero

and then again increases.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_y0xKUUIinAz5
https://dl.doubtnut.com/l/_ct1d6M44mF56

40. An optically active compound

A. rotates the plane polarised light

B. changes the direction of polarised light

C.does not allow plane polarised ligth to

pass thorugh

D. none of the above

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ct1d6M44mF56
https://dl.doubtnut.com/l/_ZgllOcBAsyrh

41. From Brewster's law, except for polished

metallic surfaces, the polarising angle

A.depens on wavelength and is different

for different colours

B.independent of wavelength  and

different colours.

C.independent of wavelength and is same

for different colours colours

D. depends on wavelength and is same for

defferent colours


https://dl.doubtnut.com/l/_ZgllOcBAsyrh

Answer: A

° Watch Video Solution

42. Unpolarised light is incident from air on a
plane surface of a material of refractive index
. At a particular angle of incidence 1, it is
found that the reflected and refracted rays are
perpendicular to each other. Which of the

following options is correct for this situation?


https://dl.doubtnut.com/l/_ZgllOcBAsyrh
https://dl.doubtnut.com/l/_IZJfhuYgLvGU

A.Reflected light is polarised with its
electric vector parallel to theplane of
incidence

B. Reflected light is polarised with its
eletric vector perpendicular to the plane

of incidence

C.I = sin —
L
D.I = tan —
14

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_IZJfhuYgLvGU

43. The deviation produced when light wave is
incident on a denser medium with an sngle of
incidence equal to polarising angle is 24°. The
angle of incidence is

A.24°

B.33°

C.57°

D.81°

Answer: C


https://dl.doubtnut.com/l/_IZJfhuYgLvGU
https://dl.doubtnut.com/l/_A6nZGTccW36u

O Watch Video Solution

44.The polarising angle of glass is 57° . A ray
of light which is incident at this light which is
incident at this angle will have an angle of
refraction as

A.43°

B.25°

C. 38°

D. 33°


https://dl.doubtnut.com/l/_A6nZGTccW36u
https://dl.doubtnut.com/l/_YJsOlhUFDICM

Answer: D

o Watch Video Solution

45. The Brwster angle of the glass-air interface
is 54.74°. If a ray of light going from air to
glass strikes at an angle of incidence 45°, then
the angle of refraction is

A.60°

B.30°

C.25°


https://dl.doubtnut.com/l/_YJsOlhUFDICM
https://dl.doubtnut.com/l/_6hLJnLszhIFl

D. 54.74°

Answer: B

o Watch Video Solution

46. A ray of lighyt is incident at an angle |1 on a
glass slab of refractive index u. The angle
between reflected and refracted light is 90°

Then the relationship between | and p is

1
A.i = tan ! (—)
7


https://dl.doubtnut.com/l/_6hLJnLszhIFl
https://dl.doubtnut.com/l/_4FsuPBGNZnc4

B.tanl = u

C.sinl = p
D.cosI = u
Answer: B

o Watch Video Solution

47. The polarising angle the transparent
medium is '8’ and 'v' is the speed of light in

that medium. Then the relation between 0’


https://dl.doubtnut.com/l/_4FsuPBGNZnc4
https://dl.doubtnut.com/l/_S1kCXcl77cz1

and 'V'is

(c = velocity of light in air)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_S1kCXcl77cz1

48. Light is incident at an angle ¢ on a glass

slab. The reflected ray is completely polarished

. The angle of refraction is

A 90 — ¢

B.180 — 2

C.90 — ¢

D. 1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WIE2Mtnaq68J

49. The angle of incidence at which reflected
light is totally polarized for reflection form air

to glass ( refraction index p) is

A.sin~!(p)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ZErLzPfgFg9q

50. The ralation between the polarising angle

and the critical angle is

A.i, = tan™'(cosect,)
B.i, = tan ' (cosecsin,)
C.i, = cot '(sin6,)

D.i, = cot ' (cosect,)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_7YM4zpjGFJFS
https://dl.doubtnut.com/l/_yuJdLJS1hfGs

51. The angle of polarisation for any medium is

60°. What will be critical angle for this?

A.sin”!,/3
B.tan ' /3

C.cot ',/3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_yuJdLJS1hfGs

52. A ray of light travelling in impure water is
incident on a glass plate immersed in it. When
the angle of incidence is 51° , the refractive
index of impure water is 1.4. The refravtive
idex galss shold be......... (tan51° = 1.235)

A. 1.64

B.1.34

C.1.53

D.1.73

Answer: D


https://dl.doubtnut.com/l/_iWjE9ZIpqtpK

o Watch Video Solution

53. If the shift of wavelength of light emitted

by a star is towards violet, then this shows

that star is

A. stationary

B. moving towards earth.

C. moving away from earth

D. informatino is incomplete.

Answer: B


https://dl.doubtnut.com/l/_iWjE9ZIpqtpK
https://dl.doubtnut.com/l/_vAjvTdxk09Ji

° Watch Video Solution

54. A star is moving away form the earth with
a velocvity of 100 km/s. then the shift of its
spectral line of wavelength 5700 A due to
Doppler effect will be

A.0.63 A

B.1.90 A

C.3.80A

D.5.70 A


https://dl.doubtnut.com/l/_vAjvTdxk09Ji
https://dl.doubtnut.com/l/_NEzcjh31P80R

Answer: B

o Watch Video Solution

55. The velocity of a moving galaxy is 300 km
s ! and the apparent change in wavelengtth
of a spectral line emitted form the glalxy is

observed as 0.5 nm. Then, the actual

wavelength of the spectral line is

A. 3000 A

B. 5000A


https://dl.doubtnut.com/l/_NEzcjh31P80R
https://dl.doubtnut.com/l/_6oSvq5ewbV8J

C.6000 A

D. 4500 A

Answer: B

o Watch Video Solution

56. The 6563 A line emitted by hydrogen atom
in a star is found to be red shifted by 5 A. The
speed with which the star is receding form the

earth is


https://dl.doubtnut.com/l/_6oSvq5ewbV8J
https://dl.doubtnut.com/l/_biW1Tpq9uPpl

A.17.29 x 10°m /s
B.4.29 x 10'm /s
C.3.39 x 10°m /s

D.2.29 x 10°m /s

Answer: D

o Watch Video Solution

57. An observer is moving with half the speed
of light towards a stationary microwave

source emitting waves at frequency 10 GHz.


https://dl.doubtnut.com/l/_biW1Tpq9uPpl
https://dl.doubtnut.com/l/_W8yRT7xNZp3I

What by theobserver ? ( Speed of light
=3 X 108ms_1)
A.17.3 GHz
B.15.3 GHz
C.10.1 GHz

D. 12.1 GHz

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_W8yRT7xNZp3I

58. On a hot summer night, the refractive
index of air is smallest near the ground and
increases with height from the ground. When
a light beam is directed horizontally, the
Huygens' principal leads us to conclude that

as it travels, the light beam:

A. becomes narrower.

B. goes horizontally without any deflection.

C. bends upwards.


https://dl.doubtnut.com/l/_DwOpNOgKrzCk

Answer: D

o Watch Video Solution

59. A light has amplitude A and angle between
analyser and polariser is 60°. Light is reflected

by analyser has amplitude

A A2
B.A/+/2
C.\/34/2

D.A/2


https://dl.doubtnut.com/l/_DwOpNOgKrzCk
https://dl.doubtnut.com/l/_JDFbVuFRrfyT

Answer: D

o Watch Video Solution

60. The refractive index of glass w.t.r. a medium

4

is 3 If v,, — mg = 6.25 x 10’m/s. then the

velocity oflight in the medim will be

A.2.15 x 108m /s
B.2.5 x x 10°m /s
C.2.25 x 10°m /s

D.1.5 x 10°m /s


https://dl.doubtnut.com/l/_JDFbVuFRrfyT
https://dl.doubtnut.com/l/_P7Ofuk40JrzO

Answer: B

o Watch Video Solution

61. Light enters from air into a medium of R.l.

1.5. What is the percentage change in its

wavelength?

A. 0.6666

B.0.5

C.0.3333

D. 0.25


https://dl.doubtnut.com/l/_P7Ofuk40JrzO
https://dl.doubtnut.com/l/_yYt8soAPbzSI

Answer: C

o Watch Video Solution

62. The angle of incedence is fornd to be twice
the angle of reraction when a ray of light
passes form vacum into a medium of R.I. u.
The angle of incidece will be

A.cos (1 /2)

B.2cos (u/2)

C.sin~1(u/2)


https://dl.doubtnut.com/l/_yYt8soAPbzSI
https://dl.doubtnut.com/l/_Nmmu50QPMjOL

D.2sin"'(u/2)

Answer: B

o Watch Video Solution

63. How fast a person should drive his car so
that the red signal fo light apperas green ?
( Wavelength for red colour = 6200 A and

wavelength for green colour = 5400 A)

A. 1.5 x 10°m /s


https://dl.doubtnut.com/l/_Nmmu50QPMjOL
https://dl.doubtnut.com/l/_9bCwTxKhK5C8

B.7 x 10'm /s
C.3.9x10'm /s

D.2 x 10°m /s

Answer: C

o Watch Video Solution

Evaluation Test

1. A\, and )\,, are the wavelengths of light in air

and medium respectively. If 7, is the polarising


https://dl.doubtnut.com/l/_9bCwTxKhK5C8
https://dl.doubtnut.com/l/_3oRwpKzebUaB

angle, the correct relation between A , A\,
and 7, is
9 .
A X, = Ay tan” i,
2 .
B. A\, = A tan” 1,

C. A, = Agtani,

D. A\, = A\ptani,

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_3oRwpKzebUaB

2. A clear sheet of polaroid is placed on top of

a similar sheet so that axews make an angle of

sin1(§> with each other. The ratio of

intensity of the emergent light to that of
polarised light is

A.16:25

B.9:25

C.4:5

D. 8:25

Answer: B


https://dl.doubtnut.com/l/_c0d27Ek2jZrz

° Watch Video Solution

3. Unpolarised light of internsity 32Wm 2
passes through three polarisers such that the
transmission axis of the last polariser is
crossed with the first. If the intensity of
emerging light is 2IWm 2, the angle between
the transmission axes o the first two

polarisers is

A.22.5°

B.32.5°


https://dl.doubtnut.com/l/_c0d27Ek2jZrz
https://dl.doubtnut.com/l/_7kVzxsaSlDE2

C.42.5°

D. 62.5°

Answer: A

o Watch Video Solution

4. With what speed should a glaxy move with
respect to us so that a certain line at 674 nm

is observed at 674.4 nm ?

A.342 kms !


https://dl.doubtnut.com/l/_7kVzxsaSlDE2
https://dl.doubtnut.com/l/_jgDRqKsG5M7I

B.471kms !

C.532 kms !
D. 178 kms 1
Answer: D

o Watch Video Solution

5. A beam of unpolarised light having flux
102 watt falls normally on a polariser of
cross sectional area 3 x 10 *m? The

polariser rotates with an angular frequency of


https://dl.doubtnut.com/l/_jgDRqKsG5M7I
https://dl.doubtnut.com/l/_aAPmRANVoKSS

7 rad/s. The energy of liggt passing through
the polariser per revolution will be
A.10"*joule
B.10 ° joule
C.10 2 joule

D.10 ! joule

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_aAPmRANVoKSS

6. Assertion : If light is polarised by reflection,
then the angle between reflected and
refracted ray is 180°.
Reason : Brewester's law : u = tanz,,.
A. Assertion is True, Reason is True, Reason
is a correct explanation for Assertion
B. Assertion is True, Reason is True, Reason
is not a correct explanation for Assertion

C. Assertion is True, Reasonis False

D. Assertion is False, Reason is True


https://dl.doubtnut.com/l/_GyTnuhwz07IJ

Answer: D

o Watch Video Solution

7. The speactral line emitted by a star, has a

wavelength of 6800 A when observed form a

Speed of star in the line of light relative to

earth for receding or approach is given by
A.2.42 x 10°ms ! receding

B.4.64 x 10°ns ! receding

C.6.86 x 10°ms ! receding


https://dl.doubtnut.com/l/_GyTnuhwz07IJ
https://dl.doubtnut.com/l/_axxShuV3Xnu5

D.8.70 x 10°ms ! receding

Answer: D

° View Text Solution

8. A cylindrical wavefront spreads form a line
source which is comparable to a long and
narrow slit. The wavefront is at a distance d
form source then th amplitude of wave is

proportional to

1
A —
d


https://dl.doubtnut.com/l/_axxShuV3Xnu5
https://dl.doubtnut.com/l/_SMoC4SSY7nVT

Answer: D

o Watch Video Solution

9. A lens of focal length f gives diffraction
pattern of Fraunhoffer type of a slit having

width a. If wavelength of light is A, the



https://dl.doubtnut.com/l/_SMoC4SSY7nVT
https://dl.doubtnut.com/l/_S6aABDKaQBfh

distance of first dark band and next bright

band from axis is given by

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_S6aABDKaQBfh

10. A parallel beam of monochromatic light is
incident on a glass slab at an angle of 35°.
The ratio of width of beam in glass to that in
airis [ u, = 1.5]

A.1.07

B.1.13

C.3.21

D. 4.28

Answer: B

‘ o Wiak hh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_4Ve3VOU5TmvT
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1. For passage of monochromatic beam of
light in a medium of refractive index 1.5, the
plane wavefront makes an andlige of 60° with
the refracting surface. The width of beam in
medium to that in air is

A l:2

B.1:1

C.1:5

D.2:0


https://dl.doubtnut.com/l/_4Ve3VOU5TmvT
https://dl.doubtnut.com/l/_rQs5HWLxtbif

Answer: B

o Watch Video Solution

2\ th
12. Velocity of light in deamond is (g) that

3\ th
in air. Velocity of light in water is (Z) that

in air. The angle of incidence of a ray of light

travelling form water to diamond (r = 30°) is

A sin L E
.sin T
3

B.sin ! —
i (2)


https://dl.doubtnut.com/l/_rQs5HWLxtbif
https://dl.doubtnut.com/l/_nfdJVUcSztrQ

C. sin1<
D. sin_l(

Answer: A

)
)
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o Watch Video Solution

13. For navigatio purpose, in polar regions

A. magnetic compass is used.
B. electric compass in used

C. wind direction used


https://dl.doubtnut.com/l/_nfdJVUcSztrQ
https://dl.doubtnut.com/l/_lN1NsF6IG3yq

D.the polarisation of sunlight by

scattering is used.

Answer: D

o Watch Video Solution

14. When a plane wavefront is incident on a

double convex lens, the refracted wavefront is

A. a plane wavefront

B. a cylinderical wavefron


https://dl.doubtnut.com/l/_lN1NsF6IG3yq
https://dl.doubtnut.com/l/_NS5r4KqqqIAn

C. a spherical wavefront which is diverging.

D. a spherical wavefront wavefront which is

converging.

Answer: D

o Watch Video Solution

15. As a spherical wavefront propagates, the
amplitude (a) of a spherical wavefront varies

with the distance r of the source


https://dl.doubtnut.com/l/_NS5r4KqqqIAn
https://dl.doubtnut.com/l/_D9kzXn07PCQQ

1
A.inverselyas \/rir,a o< —

\/,F

1

B.inverselyasrir,a o< —
7"0

C.directlyasrir,a o< r

D.directlyas \/rie, o /7

Answer: B

o Watch Video Solution

16. Assertion: Speed of light in glass is

indep[endent of the colour of light.


https://dl.doubtnut.com/l/_D9kzXn07PCQQ
https://dl.doubtnut.com/l/_ueVbUDPSKZkF

Reason : the violet colour travels faster than

the red light in a glass prism.

A. Assertion is True, Reason is True, Reason

Is a correct explanation for Assertion

B. Assertion is True, Reason is True, Reason

is not a correct explanation for Assertion

C. Assertion is True, Reasonis False

D. Assertion is False, Reason is True

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ueVbUDPSKZkF

17. Assertion : Stars are often photographed
with the help of telescope fitted with a blue
filter.

Reason : Blue filter transmits blue light. Which
has shorter wavelength. Therefor, resolving

power of telescope increases.

A. Assertion is True, Reason is True, Reason

Is a correct explanation for Assertion


https://dl.doubtnut.com/l/_ueVbUDPSKZkF
https://dl.doubtnut.com/l/_sqDp4QL2fsNT

B. Assertion is True, Reason is True, Reason

Is not a correct explanation for Assertion

C. Assertion is True, Reasonis False

D. Assertion is False, Reason is True

Answer: A

o Watch Video Solution

18. Assertion : If 8 is the angle between the
planes of transmission of two analysers then

the intensity of emergent light is proportional


https://dl.doubtnut.com/l/_sqDp4QL2fsNT
https://dl.doubtnut.com/l/_cQmWD8GpL1hQ

to cos® 6.
Reason : In the propagation of
electromagnetic waves, the angle between the

direction of propogation and plane of

. . .
polarisation is 5

A. Assertion is True, Reason is True, Reason
is a correct explanation for Assertion

B. Assertion is True, Reason is True, Reason
Is not a correct explanation for Assertion

C. Assertion is True, Reasonis False

D. Assertion is False, Reason is True


https://dl.doubtnut.com/l/_cQmWD8GpL1hQ

Answer: C

o Watch Video Solution

19. Ordinary light incident on a glass slab at
the polarising angle suffers a deviation of 34°
. The velue of the angle of refraction in glass in
this case is

A. 28°

B.42°

C.56°


https://dl.doubtnut.com/l/_cQmWD8GpL1hQ
https://dl.doubtnut.com/l/_IicIvCroDxY4

D. 68°

Answer: A

o Watch Video Solution

20. A mixture of plane polarised and
unpolarised light falls normally on a polarising
sheet. On rotating the polarising sheet about
ther direction of the incident beam, the
transmitted intensity varies by a factor of 3.

The ratio of intensities Ip and Ip of the


https://dl.doubtnut.com/l/_IicIvCroDxY4
https://dl.doubtnut.com/l/_YtG3fV1BRESo

polarised and unpolarised components in the

incident beam is

Al:1

B.1:2

C.2:3

D.3:4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YtG3fV1BRESo

